
Запасные части

Кольцо OR 3050 NBR

Кольцо OR 3050 NBR

Мембрана

Кольцо OR “10” SHA65 NBR

Обтюратор ( устройство, 
перекрывающее поток)

Кольцо OR 123 NBR

Кольцо OR 128 NBR

Кольцо OR 2062 NBR

Фильтр

Кольцо OR 2062 NBR

Кольцо OR NBR

Кольцо OR NBR

Кольцо OR NBR

Мембрана

Обтюратор ( устройство, 
перекрывающее поток)

Мембрана

Диск

Болт

Болт TCEI M 6x20

Заклепки

Табличка

Болт

Сфера

Диск

Ось

Клапан

Шайба

Болт

Винт

Блокировка

Крышка

Диск

Пружина

Болт TCEI M 6x30

Блокировка

Диск

Блокировка

Винт

Ось

Болт TCEI M 6x65

Болт TCEI M 6x65

Клапан

Диск

Втулка

Блокировка

Втулка

Болт TCEI M 6x65

Клапан

Крышка

Блокировка

Пружина


